Plot and interpret time-series graphs
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Plot and interpret time-series graphs

1. Draw a time series graph of the books 2. The graph shows the heights of a

loaned out by a school library.
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Plot and interpret time-series graphs

3. This graph shows the temperature 4. The graph shows the rainfall in
over the course of a summer’s day. Lerwick and St Mary's.
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Plot and interpret time-series graphs

1. Draw a time series graph of the books 2. The graph shows the heights of a

loaned out by a school library.
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Plot and interpret time-series graphs

3. This graph shows the temperature 4. The graph shows the rainfall in
over the course of a summer’s day. Lerwick and St Mary's.
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No, readings should not be taken from
between the plotted points, we join the

¢  points to show a trend

Both places have very similar
rainfall in the summer
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